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Section-A
qe-A
(Very Short Answer Type Questions)
(s oy Sl )
Answer all the five questions. Each ques&n .;
carries 3 marks. Very short answer is required not
exceeding 75 words. 3x5=15
T G T 3 SO AT | S 09 3 el

¥ 1 s 75 9 A o ey S R |

Explain the term “cost um't’.I
TR 338’ 1= %I fada i
O

How is Work-in-Progress Account shown in the

balance sheet ? ;
i) 7 e el o % 353 R o 37 h

(3)

3. What is meant by E. O. Q. ? Give formulaalso.

et ot M 368 et &7 41 T e |

Define overhead.

IuRed @i R A |

5; Define:

(i) Primecost
(ii) Costofsales

(iii) Total cost.

R I :

(i) T SO

(i) Fera it AT

(ii) T TR |
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Section-B
-9
(Short Answer Type Questions)

(g w09 5°) ®
Answer any fwo questions out of the following
three questions. Each questidn carries 7”2 marks,
ShoﬁanswcrisrequirednotexceedingZOOwords.
- sutleT¥a%x2=15
R o ot o & Bl & ol B S

S T T 7 S 1 SR 200
=1 § @g ST e g1 T

ey
5 Rl |

6.  Calculatethe costofmaterial consumed: @)

) -
Opening stock of materiali7 #+ w77 1) | 24,000
Material purchased 1 ,20,00%
Carriage on material purcha'séd & o 2005
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(5)
Defective material return 2,400
Closing stock of material 80,000
Material sold (Cost price T 3,000) 4,000
Sy T 21 STCT bl T hifore -

:a T
gt o1 SR e 24,000
A B 1,20,000
SEEERRISE | 200
Sayet areh A ' 2,400
Rl = ST e 80,000

awh 30 T (T TR T 3.000) 4,000

7. What is cost sheet ? Draw a complete specimen

24P ':forlni;of a cost sheet.
g |
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(&) (7)

8. What is cost-plus method of placing th,
o . 9, The following annual charges are incurred in
contracts? Also explain the merits and demeritg

respect of a machine where manual labour is

of this method.
almost nil and where the work is done by means of
3 & aFa-an vl # 87 TSy 3 , »
' ) o five machines of exactly similar type and
gﬂT—aﬁTEﬁiﬂ ! specifications :
T
Seetim:C (i) Rentandrates (proportional to the
qe-q s 1 floor space occupied fortheshop) 4,803
(Detailed Answer Type Questions), (ii) Depreciation on each machine 500
(ﬁﬁﬂ g m) (iii) Repairsand maintenancé for five
Answer any three questions out of the folldwing machines 1990
five questions. Each question carries 15 marks. (tv) Powe (as permeter) @ T1 per
Answeris requiredin detail, el | @ T leNe i fortheshop T ‘5760

- : 117 (v) " Electric ch forlight in the sh 540
mmmﬂa%mm%m (v) ' Electric charge for light in the shop 5

: ,(‘f’i)' Attendants : There are two attendants \
QI | I3 9T 15 9 :
_ S 1 R Fereger e for the five machines and they are
gl ' - each paid per month 60 .
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(8) (9)

(vii) Supervision : For the five machines T
; (i) prefrer =t B 7 < (3 2% oef
in the shop there is one supervisor
whose emoluments are (permonth)  25q S % ST ﬁ) 4.803
(viii) Sundry supplies, such as lubricants, Q o (i) SR a2 <00
jute and cotton, waste etc. for the i Sk S s i

h
s W (iv) R (e B STR) Frdeman
(ix) Hire-purchase instalment payable for ' .
- S Ofe 16 AT T1H EXF 3,750

(v) R & T 3 foega =g 540

the machines (inéluding T 300 as

interest) o 1200 |5 00
®) The machine uscs 10 unis of power per CL(v) IR ¢ 5 A B R 2 aREres

ot i : | - ESRemARmemE (R 60
Calculggethemachine-hquratefqrgheyear. ), I @ - (vii) TEROT - e 3 5 A B o o
%Wﬁﬁﬂ?ﬂ?%mi’fﬁﬁﬁﬁﬂﬁﬂi " s o % R 3§ (5RE) 250
méﬁ%wmwwa\a%wm - (viii) e ST SRy o P, o1, &%
ﬁ@%émzﬁsﬁaﬁﬁmﬁmm%: &S S e 3 o 494

NEP-3037 ) NEP-3037




- (11)

Direct expenses ( ¥ 3 per unit extra for additional
(ix) 7T fove R @l 9 R units)

(T 300 S S qﬂa- gq) 1.200 Fixed overheads T 2,000 extra
’ Variable  overheads 20% more than

(x) 9 S qveT 10 39 AT SUART R R b proporionately

aﬁqﬁqﬁﬁq_qna_a{am?ﬂﬁﬁﬁ; ; @ | @ Calculate the estimated cost of production for
| | 11,000 units.
10. The cost of manufacturing 10,000 units of a T &g A 10,000 FHEA 1 Al A A &
commodity is givenbelow: f e
T ] L
- g \ 4 P -
Raw material 0,000 : ; 40,000
Direct wages i 5 30,000 )
' : T Aq 30,000
Direct expenses _ - 10,000 i . :
. s 4 |
Fixed overheads 32,000 .' S = 10,000
Variable overheads ot 500 @ { Rex =g 32,000
For manufacturing additional 1,000 units the cost IREasiieT Sufey 7,500
ofproduction s as following : : ' 1,000 SRR THEA B SR %Q,' T @
Materials (proportionatel ' '
(prop y) | = W% .

Direct wages (20% less than proportionately) |
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. (12) (13)

Material purchased 60,000
Tt (ST Y ) ’
{# ‘Wages paid 42.000
m G‘W 0,
i ( A 20% Eﬁq) 4 Plant issued 10,000
e 99 (?3 it Eﬁlé@[f@lzﬁ et sral £ Overheads charged 3,000
ﬁ"ﬂ) A RIS B P Cost of uncertified work 10,500
_ iz D 9 shrd 60 Materials in hand 5,000
Re Suiemm T 2,000 e e
e i Depreciation on plant 10%
IRecEIT SURET ST & 20% St sEE:
11,000 SHEA I STUIlcs S AAC FA o Pretiiea gEeeT @ 39 @, FE-EG @
i % T e - E SR e St i |
11.  From the following particulars, pr@p‘al?C()ntract e o 4,00,000
Account, Work-in-Progress Account and
e v TR 1,20,000
transferring reasonable profit to Profit' & Loss i ’
Account: % 19 O (@) T VS 90,000
W Tl ] A arEll 5 60,000
Contract price - 4,00,000 Bl e 42,000
Work certified 1,20,000 '
; RS e ﬁ"fmﬁ 10,000
Cashreceived ' 90,000 e
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(14) ' (15)

SuRReTa agw Bl 5000 T HREM N JEwh | Freaferfa e o B
STHIPT 1 3t T 10,500 . _
T, o & aipEnett o wEr R o -
[ESUGASILE] 5,000
s i e - B
i W E 10% O D Wi
e 1,0008 @ T 50 Tiq &1 -
12.  Thefollowing details are available from the books -
- . oqHq T 30,000 T 20,000
ofa factory in which two processes are employed :
Process-A. Process-B  ~ 1 FREMT U A H50%  FHH30%
Materials 1,000tons @ T 50 perton - £ ;
: 100 <9 201
Wages T 30,000 < 20,000 Wi
Factoryoverheads  50%of wage's. 30% of wages S0 B R 100 g 9= 200 =5 =0
' (TR 25% AR
Wastage 100tons '~ "~ ' 20tons ‘) @ 2 ot
Saleofbyproducts  100tonssold 200 tons sold IR  JIAB W
atcostplus20% atcostplus25% s
Prepare necessary Ledger Accounts, ' YT FE T AR IR |
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13.

(16)

What is Cost Accounting ? Explain briefly jtg

objects and advantages.

AReT i T ¥7 g Seedl wd il @ wary
3 R <o o
g):)
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